Problem 4.5

In the network shown find Io using superposition
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Suggested Solution


[image: image2.wmf]6K

W

6K

W

6K

W

6mA

I'o

6K

W

6mA

I'o

9K

W

6K

W

Zero the

indep

. voltage source



[image: image3.wmf]918

965

'0.006()

K

o

KK

ImA

+

=-=-



[image: image4.wmf]6K

W

6K

W

6K

W

I''o

12V

6K

W

Zero the indep. current souce

I



[image: image5.wmf]6

12

5

66(66)

6

2

6125

1816

2

(

555

''()

''')

KKKK

K

o

KK

ooo

ImA

IImA

IIImAmA

++

+

=+=-

==

==

+=-


_1052034030.bin

_1052034031.bin

_1050764547.bin

_1050764549.unknown

_1050764546.unknown

